

Generalization of some inequalities for the q -gamma function

Armend Sh. Shabani

Department of Mathematics, University of Prishtina

Submitted 25 May 2008; Accepted 5 September 2008

Abstract

In this paper is obtained q -analogue of a double inequality involving the Euler's gamma function proved in [5]. In the same way, the paper [5] generalized papers [1]–[4], this paper will generalize some inequalities for the q -gamma function such as those presented in [9, 10].

Keywords: q -gamma function, Inequalities

MSC: 33D05

1. Introduction

The Euler gamma function $\Gamma(x)$ is defined for $x > 0$ by

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt.$$

The Psi or digamma function, the logarithmic derivative of the gamma function is defined by

$$\psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}, x > 0.$$

The q -analogue of the gamma function is defined by

$$\Gamma_q(x) = (1-q)^{1-x} \prod_{i=1}^{\infty} \frac{1-q^i}{1-q^{x+i}}, \quad q \in (0, 1). \quad (1.1)$$

The q -psi function is defined as

$$\psi_q(x) = \frac{d}{dx} \log \Gamma_q(x). \quad (1.2)$$

We will make use of the following well known facts

$$\lim_{q \rightarrow 1^-} \Gamma_q(x) = \Gamma(x), \quad \lim_{q \rightarrow 1^-} \psi_q(x) = \psi(x). \quad (1.3)$$

R. Askey, [8] derived some properties of the q -gamma function.

Papers [1, 2, 3, 4] were related to some double inequalities involving the gamma function.

In [5] the following theorem is proved:

Theorem 1.1. *Let f be a function defined by*

$$f(x) = \frac{\Gamma(a+bx)^c}{\Gamma(d+ex)^f}, \quad x \geq 0, \quad (1.4)$$

where a, b, c, d, e, f are real numbers such that: $a+bx > 0, d+ex > 0, a+bx \leq d+ex$.

In both situations:

i) Let $ef \geq bc > 0$. If $\psi(a+bx) > 0$ or $\psi(d+ex) > 0$

ii) Let $bc \geq ef > 0$. If $\psi(d+ex) < 0$ or $\psi(a+bx) < 0$

the function f is decreasing for $x \geq 0$ and for $x \in [0, 1]$ the following double inequality holds:

$$\frac{\Gamma(a+b)^c}{\Gamma(d+e)^f} \leq \frac{\Gamma(a+bx)^c}{\Gamma(d+ex)^f} \leq \frac{\Gamma(a)^c}{\Gamma(d)^f}. \quad (1.5)$$

which represents a generalization of inequalities given in [1, 2, 3, 4].

Some of those inequalities were generalized using q -gamma analogue function. Thus T. Kim and C. Adiga [9] proved:

Theorem 1.2. *If $0 < q < 1, a \geq 1$ and $x \in [0, 1]$ then*

$$\frac{1}{\Gamma_q(1+a)} \leq \frac{\Gamma_q(1+x)^a}{\Gamma_q(1+ax)} \leq 1. \quad (1.6)$$

Letting q tend to 1 and $a = n$, one obtains q -gamma analogue to the inequality given in [1]. Letting q tend to 1, one obtains q -gamma analogue to the inequality given in [2].

Recently, T. Mansour [10] proved:

Theorem 1.3. *Let $x \in [0, 1], q \in (0, 1), a \geq b > 0, c, d$ positive real numbers with $bc \geq ad$ and $\psi_q(b+ax) > 0$ then*

$$\frac{\Gamma_q(a)^c}{\Gamma_q(b)^d} \leq \frac{\Gamma_q(a+bx)^c}{\Gamma_q(b+ax)^d} \leq \frac{\Gamma_q(a+b)^c}{\Gamma_q(a+b)^d}. \quad (1.7)$$

which again by letting q to 1 gives q -gamma analogue of inequality given in [4] and thus gives a generalization of the main results of [4].

The idea of this paper is to consider the q -gamma analogue of the function given by Theorem 1.1, so to consider the function:

$$f(x) = \frac{\Gamma_q(a + bx)^c}{\Gamma_q(d + ex)^f}, \quad x \geq 0 \tag{1.8}$$

and to have q -analogue results of [5] and thus to generalize the results of [9] and [10].

2. Results

In order to establish the proof of the theorems, we need the following lemmas:

Lemma 2.1. *The q -psi function has the following series representation:*

$$\psi_q(x) = -\log(1 - q) + \log q \cdot \sum_{i=0}^{\infty} \frac{q^{x+i}}{1 - q^{x+i}}. \tag{2.1}$$

Proof. See [7]. □

Lemma 2.2. *Let $q \in (0, 1)$, $x > 0$, $y > 0$ and $x < y$. Then*

$$\psi_q(x) < \psi_q(y). \tag{2.2}$$

Proof. Using Lemma 2.1 we obtain:

$$\begin{aligned} \psi_q(x) - \psi_q(y) &= \log q \cdot \left(\sum_{i=0}^{\infty} \frac{q^{x+i}}{1 - q^{x+i}} - \sum_{i=0}^{\infty} \frac{q^{y+i}}{1 - q^{y+i}} \right) \\ &= \log q \cdot \sum_{i=0}^{\infty} \left(\frac{q^{x+i}}{1 - q^{x+i}} - \frac{q^{y+i}}{1 - q^{y+i}} \right) \\ &= \log q \cdot \sum_{i=0}^{\infty} \frac{q^{x+i} - q^{y+i}}{(1 - q^{x+i})(1 - q^{y+i})} \\ &= \log q \cdot \sum_{i=0}^{\infty} \frac{q^i (q^x - q^y)}{(1 - q^{x+i})(1 - q^{y+i})} < 0, \end{aligned}$$

because for $x < y$ and $q \in (0, 1)$ we have $q^x > q^y$ and $\log q < 0$ which completes the proof. □

Lemma 2.3. *Let $q \in (0, 1)$, $a + bx > 0$, $d + ex > 0$ and $a + bx \leq d + ex$. Then*

$$\psi_q(a + bx) - \psi_q(d + ex) \leq 0. \tag{2.3}$$

Proof. By Lemma 2.2. □

Lemma 2.4. Let a, b, c, d, e, f be real numbers such that $a + bx > 0$, $d + ex > 0$, $a + bx \leq d + ex$ and $ef \geq bc > 0$. Let $q \in (0, 1)$. If

$$(i) \psi_q(a + bx) > 0 \text{ or}$$

$$(ii) \psi_q(d + ex) > 0$$

then

$$bc\psi_q(a + bx) - ef\psi_q(d + ex) \leq 0. \quad (2.4)$$

Proof. (i) Let $\psi_q(a + bx) > 0$. From Lemma 2.3 we have $\psi_q(d + ex) \geq \psi_q(a + bx) > 0$. Multiplying both sides of inequality $ef \geq bc$ with $\psi_q(d + ex)$ we obtain

$$ef\psi_q(d + ex) \geq bc\psi_q(d + ex) \geq bc\psi_q(a + bx),$$

so

$$bc\psi_q(a + bx) - ef\psi_q(d + ex) \leq 0.$$

(ii) If $\psi_q(d + ex) > 0$, considering (2.3) we see that there are two possibilities for $\psi_q(a + bx)$.

Case 1. $\psi_q(a + bx) < 0$, Case 2. $\psi_q(a + bx) > 0$.

Hence we have:

Case 1. $bc\psi_q(a + bx) < 0$ and $ef\psi_q(d + ex) > 0$ so clearly (2.4) holds.

Case 2. The possibility $\psi_q(a + bx) > 0$ was proved in (i). \square

Lemma 2.5. Let a, b, c, d, e, f be real numbers such that $a + bx > 0$, $d + ex > 0$, $a + bx \leq d + ex$ and $bc \geq ef > 0$. Let $q \in (0, 1)$. If

$$(i) \psi_q(d + ex) < 0 \text{ or}$$

$$(ii) \psi_q(a + bx) < 0$$

then

$$bc\psi_q(a + bx) - ef\psi_q(d + ex) \leq 0. \quad (2.5)$$

Proof. (i) Let $\psi_q(d + ex) < 0$. From Lemma 2.3 we have $\psi_q(a + bx) \leq \psi_q(d + ex) < 0$. Multiplying both sides of inequality $bc \geq ef$ with $\psi_q(a + bx)$ we obtain

$$bc\psi_q(a + bx) \leq ef\psi_q(a + bx) \leq ef\psi_q(d + ex),$$

so

$$bc\psi_q(a + bx) - ef\psi_q(d + ex) \leq 0.$$

(ii) If $\psi_q(a + bx) < 0$, considering (2.3) we find out that there are two possibilities for $\psi_q(d + ex)$.

Case 1. $\psi_q(d + ex) > 0$, Case 2. $\psi_q(d + ex) < 0$.

Then we proceed in the same way as in previous lemma. \square

Theorem 2.6. Let f be a function defined by

$$f(x) = \frac{\Gamma_q(a + bx)^c}{\Gamma_q(d + ex)^f}, \quad x \geq 0, \quad q \in (0, 1) \tag{2.6}$$

where a, b, c, d, e, f are real numbers such that: $a + bx > 0, d + ex > 0, a + bx \leq d + ex, ef \geq bc > 0$. If $\psi_q(a + bx) > 0$ or $\psi_q(d + ex) > 0$ then the function f is decreasing for $x \geq 0$. For $x \in [0, 1]$ the following double inequality holds:

$$\frac{\Gamma_q(a + b)^c}{\Gamma_q(d + e)^f} \leq \frac{\Gamma_q(a + bx)^c}{\Gamma_q(d + ex)^f} \leq \frac{\Gamma_q(a)^c}{\Gamma_q(d)^f}. \tag{2.7}$$

Proof. Let g be a function defined by $g(x) = \log f(x)$. Then

$$g(x) = c \log \Gamma_q(a + bx) - f \log \Gamma_q(d + ex).$$

So

$$g'(x) = bc \frac{\Gamma'_q(a + bx)}{\Gamma_q(a + bx)} - ef \frac{\Gamma'_q(d + ex)}{\Gamma_q(d + ex)} = bc\psi_q(a + bx) - ef\psi_q(d + ex).$$

By (2.4), we have $g'(x) \leq 0$. It means g is decreasing for $x \geq 0$, hence f is decreasing for $x \geq 0$. For $x \in [0, 1]$ we have $f(1) \leq f(x) \leq f(0)$ or

$$\frac{\Gamma_q(a + b)^c}{\Gamma_q(d + e)^f} \leq \frac{\Gamma_q(a + bx)^c}{\Gamma_q(d + ex)^f} \leq \frac{\Gamma_q(a)^c}{\Gamma_q(d)^f}.$$

This concludes the proof of the Theorem. □

In a similar way, using Lemma 2.5 it is easy to prove the following theorem.

Theorem 2.7. Let f be a function defined by

$$f(x) = \frac{\Gamma_q(a + bx)^c}{\Gamma_q(d + ex)^f} \quad x \geq 0, \quad q \in (0, 1) \tag{2.8}$$

where a, b, c, d, e, f are real numbers such that: $a + bx > 0, d + ex > 0, a + bx \leq d + ex, bc \geq ef > 0$. If $\psi_q(d + ex) < 0$ or $\psi_q(a + bx) < 0$ then the function f is decreasing for $x \geq 0$. For $x \in [0, 1]$ the inequality (2.7) holds.

By Theorems 2.6 and 2.7 and using (1.3) it is easy to verify that the following remarks hold:

Remark 2.8. Considering (2.7) with $a = 1, b = 1, c = n, n \in \mathbb{N}, d = 1, e = n, n \in \mathbb{N}, f = 1$ and (1.3) one obtains the q -analogue to the inequality given in [1], which was proved in [9]

Remark 2.9. Considering (2.7) with $a = 1, b = 1, c = a, a \geq 1, d = 1, e = a, f = 1$ and (1.3) one obtains the q -analogue to the inequality given in [2], also proved in [9].

Remark 2.10. If in (2.7) we take $a = 1, c = a, d = 1, e = a, f = b$, with $c \geq f > 0$ and using (1.3) we obtain q -analogue to the inequality given in [3].

Remark 2.11. If in (2.7) we take $a = b, b = a, c = d, d = a, e = b, f = c$, $ef \geq bc > 0$, with $a \geq b > 0$ and $\psi_q(b + ax) > 0$, as well as using (1.3) we obtain q -analogue to the inequality [4] proved in [10].

References

- [1] ALSINA, C., TOMÁS, M.S., A geometrical proof of a new inequality for the gamma function, *J. Ineq. Pure Appl. Math.*, 6(2) (2005) Article 48.
- [2] SÁNDOR, J., A note on certain inequalities for the gamma function, *J. Ineq. Pure Appl. Math.*, 6(3) (2005) Article 61.
- [3] BOUGOFFA, L., Some inequalities involving the gamma function, *J. Ineq. Pure Appl. Math.*, 7(5) (2006) Article 179.
- [4] SHABANI, A.SH., Some inequalities for the gamma function, *J. Ineq. Pure Appl. Math.*, 8(2) (2007) Article 49.
- [5] SHABANI, A.SH., Generalization of some inequalities for the gamma function, accepted for publication in *Mathematical Communications*.
- [6] CHAUDHRY, M.A., ZUBAIR, S.M., A class of incomplete gamma function with applications, *CRC Press*, 2002.
- [7] GRINSPAN, A.Z., ISMAIL, M.E.H., Completely monotonic functions involving the gamma and q -gamma functions, *Proc. Amer. Math. Soc.*, 134 (2005) 1153–1160.
- [8] ASKEY, R., The q -gamma and q -beta functions, *Applicable Anal.*, 8(2) (1978/79) 125–141.
- [9] KIM, T., ADIGA, C., On the q -analogue of the gamma function and related inequalities, *J. Ineq. Pure Appl. Math.*, 6(4) (2005) Article 118.
- [10] MANSOUR, T., Some inequalities for the q -gamma function, *J. Ineq. Pure Appl. Math.*, 9(1) (2008) Article 18.

Armend Sh. Shabani

Department of Mathematics

University of Prishtina

Prishtinë 10000

Republic of Kosova

e-mail: armend_shabani@hotmail.com